0002057362497999

20O SIRTIEXSE 0—0—>

2015 4F MR 1 25 1 14

1 | ROBENZIEZR £.

1 1 X (1) x= 7] = L]
Wr=Fm_g V=Frp 2% F-BNG7) 3
2 . _AF-vz V512
S N [ N IV b GriiE T 3
R EST
3 N 2,
ThHd. -8 ’ xty- s XTEE & 0
(2) a, b&ilﬁaﬁé AHAT -2 S3z+bSTH2OMIASTSETHELY, a= NP
THd. (z)x_%-sz w5 BE zz-b
(3) 2:7\35$%ftx2—33:—5=0@ﬁ£7& o, B (a<B)ETBLx,
m<a<m+1 %23 EBmOEEm=[72],~2 ’ﬂ-%EI; /"ié
n§,8<n+lz‘(ﬁ?71‘9“ S OflEn = [T |4 B, AT
THB, () d= > pﬁ*r £ m=-2,n=4 “
(@) 60, 1, 2, 3, 4, 5EHE->TTES LHOBED > 5, 2 Dl F=E Mfss. 2L, AL
Bt < DELHDRNEDE T 5. /56

(6) HBREz +Ty =1 D OWER z, ytkrn, WPt 2x4x4Pz = /8¢
5-3+7- (m)—l ------ QM) It, O, @76 (8) 53+ 7-(-2) = )

5(x — 3)+7(y+ -) o-@&y. 5 X-3)+7(§+2)=0

y
MY LD, k2T, z—3=[ Y |n (nidEH) LBF25, ODOFTATOERME

Zﬁ«?:?n’(fkrf‘;rﬁu[:i,}'fj)
=Y [n+3, y=[Frln—[F] s —
7 -5 2 X=7n+3, 4= -5n-2
LFRED.

”

. 9 . IJl f? |
(6) AABCIZ 5T, AB=4, AC=6, cosA— = ThHLF, AABC ORI -q

JLA ] 7 SmA-' /(-% -5{_ +AABC = -[- 44 ff—
-2 /4 . zsf'

; : ﬂe 7T
(7) sin@ +cos@ = % (0°<O<180°) ¥ #F, sin®0 —cos?l = | I;{' | ’Cab

(8) oIz AE 1M, BEE2M, BE2MEDOFHSMOENHS. ZOLMHEOENL 1{EOEZRY HL, T
DEEMERL CrIZEY. ZORGTEVRLT, FEZRY M, /4%, #HEEZ 20D HLZE

HY), TONEMDERX

L4

¥y | 28
HIAGERT TR0 T3, Zor ¥, 3EEHORTTHT TSR Ths.
N re4, 25
(61027°% ReLFALY). pc=5 -~ ApApC= f(lfw+5):§“r _ I
(1) (sinf- cos8)°= /~25mB cos® /*+ 258 = ; shnb~cosl = ﬁ—lg _2 »
2. .
i —cos’ = ;—é’f* = __z;ﬁ?: @ P= 4’ -z, 25’-’34 - ,f;?

pid e /¥




